1.

IIucemo.

2. TlocraHoBKa 1eJIM U 3aj1a4.

Llesb — mOCTpOUTH MapLIPYT HA KOOPAUHATHOM INIOCKOCTH.

3agaun:

1) Tlo3HAaKOMUTBCS C MATEMAaTUYECKUMH TEPMHUHAMH HA QHTJIMHCKOM SI3BIKE;

2) BcrnomHHTE, Kak 331aETCsl KOOPIMHATA TOUKH;
3) BcrnomHHTE criocoObl HAX0XKICHUS ApTYMEHTA 110 33JAHHOMY 3HAYCHUIO (DYHKIIUU.

B kakoii xe TeaTp Mbl CMOKEM OTBECTHU Jpyra?

VY kax 0¥ rpymnmbsl Ha cToJie ecTh auctT Nel

1 rpynmna:

Ne 1.0tranait HazBaHue TeaTpa (KakJ0M IpyIIe BHIAAIOTCS BBIPAXKEHUS € 3allIM(PPOBAHHBIMU

AHTJIMHACKUMU OyKBaMH)

75-250:5 15-3-(15+22) 50:2-3
56-5-274 800:10-30-2 30-(14-7):10
380:20-1 (45-25):2+1 (13+15):2
(30+20): (70- 16-2-10 (9+7) -10:80+5
60)
100-5:50-0,5 (80-50):2 100-(30-3-6)
(45-30):5 (60+3):7+4 18:2-35:5
22 15 12 11 15 22 20 20 |18
2 rpynna:
75-250:5 15-3-(15+22) 50:2-3
56-5-274 800:10-30-2 30-(14-7):10
380:20-1 (45-25):2+1 (13+15):2
(30+20): (70- 16-2-10 (9+7) -10:80+5
60)
100-5:50-0,5 (80-50):2 100-(30-3-6)
(45-30):5 (60+3):7+4 18:2-35:5
20 |8 |5 |1 |20 |18 |5 6 (15 |18 20 25|15|21| 14
3 rpynmna:
75-250:5 15-3-(15+22) 50:2-3
56-5-274 800:10-30-2 30-(14-7):10
380:20-1 (45-25):2+1 (13+15):2
(30+20): (70- 16-2-10 (9+7) -10:80+5
60)
100-5:50-0,5 (80-50):2 100-(30-3-6)
(45-30):5 (60+3):7+4 18:2-35:5




16 21 16 16 5 20 20 8 5 1 20 |18 |5

4 rpynmna:
75-250:5 15-3-(15+22) 50:2-3
56-5-274 800:10-30-2 30-(14-7):10
380:20-1 (45-25):2+1 (13+15):2
(30+20): (70- 16-2-10 (9+7) -10:80+5
60)
100-5:50-0,5 (80-50):2 100-(30-3-6)
(45-30):5 (60+3):7+4 18:2-35:5
3 8 1 13 2 5 18 20 8 5 1 20 |18 |5

Ne 2. Jlnst TOrO, 4TOOBI Y3HATH KOOPAMHATHI MECTa MPEeObIBaHUS Ipyra, BaM HEOOXOIUMO BBITIOJHUTH
3a/laHue.

1 rpynmna:

IToctpoiite orpesku AB u CD, eciu A (15;1), B (20;4), C(13;6) u D (18;1). Haiigure KoOpAHHATHI TOUKH
nepecevenus orpe3koB AB u CD.

2 rpynna:

IToctpoiite orpesku AB u CD, eciu A (15;1), B (20;4), C(13;6) u D (18;1). Haiigure KoOpaAHHATHI TOUKH
nepecevenus orpe3koB AB u CD.

3 rpynna:

IToctpoiite orpesku AB u CD, eciu A (15;1), B (20;4), C(13;6) u D (18;1). Haiigure KoOpaAHHATHI TOUKH
nepeceuyenus orpe3koB AB u CD.

4 rpynna:

[MToctpoiite otpe3ku AB u CD, eciiu A (15;1), B (20;4), C(13;6) u D (18;1). Haiiante KOOpIHHATH TOUKH
nepeceuyenus orpe3koB AB u CD.

Ne 2. TlIupoBka koopAMHAT 1o kKapToukaMm. HaxoxxieHre koopanHaThl MecTa obena (kade)

HIndposka npeacraisieT cOO0H KOOPIUHATHI TOUEK, KOTOPbIE B IPSIMOYTOJIBHOM cUCTEMe KOOpIUHAT
3aIMcaHbl COOTBETCTBYIOIIMMHU OyKBaMH

1 rpynna:

(27;22), (22;5), (15;10), (6;2), (27;9), (15;10), (20;17), (10;14), (3;7), (6;2).
2 rpynmna:

(8;5), (10;10), (25;3), (2;17), (21;21), (10;19), (23;11), (25;3), (5;2).

3 rpynmna:

(17:9), (6;11), (23;15), (6;11), (3;2).



4 rpynna:
(18;8), (5;2), (18;8), (5;2), (18:8), (27:5);(5,2)
Ne 4,

Yr1o0OBI OTMETUTD KOOpAUHATBI TOUCK AJId OKCKYPCHH 110 JOCTOIIPUMEIATCIIbHOCTAM, BaM HA10 HaWTH UX
KOOPAWHATHI, a JJIsA 9TOTO HYKHO PCHIUTD YPAaBHCHHA U OTBETHI BIIMCATh B KAPTOYKHU (paSIIaIOTCﬂ JIUCTHI, I'I€
IMPOIKMCAaHbl YPAaBHCHUSA U TOUKH, TAKKC KAPTOUKHU 110 KOJIMYCCTBY KOMaHII).

1 rpynna:
YpaBuenune |Touxka|OtrBer
1) -2x+5=17-4x |(x; 17)| (6,1)
2) 8x+15=105-2x|(x,; 17)|(9,17)
3) 2(v-1)=5y-56 | (9, ) |(9,18)
4 (1;y) | L1
5) ; 3) | (-3,3)
6) (x; 0) | (-7,0)
7) (-3: )] (31)
8) (1;y) | (,-1)
2 rpynna:
YpaBuenune |Touka|OtBer
1) 8x-3=3x+22 (x;, 13)| (5,13)
2) -18x+28=9x-53 | (x; 15)| (9,15)
3) 8(y-0,5)=5y+44|(11; y)|(11,16)
4) (1;y) | 11
5) (x;3) | (-:3,3)
6) (x; 0) | (-7,0)
7) (-3:»)] (3.1
8) (1;y) | (1,-1)
3 rpynna:
YpaBHenue Touka| OTBeT
1) 5x-8=15x-38 (x; 17)| (3,17)

2) 5(7x-3)=20(x+3) |(x; 21)| (5,21)
3) 40y-2y+1=37y+18| (7, y) | (7,17)
4) 6x+8=4x+42 (x; 17)((13,17)

5) (x;3) | (-:3,3)
6) (x; 0) | (-7,0)
7) (-3:1)] (31)

8) (1) | 1-1)




4 rpynmna:

YpaBHeHue Touka| OTBeT
1) 8x-4=5x+4 (x; 18)| (5,18)
2) 15x+5=7x+69 (x; 21)| (8,21)
3)14y-2y+3=11y+21|(11; y)|(11,18)
4) -33x+6=-28x-49 |(x; 16)[(11,16)

5) ¢ 3) | (-3.3)
6) ¢ 0) | (-7,0)
7) (-3, )] (-3,1)
8) (1;y) | (1,-1)

Ned4. KoHeuHbIH MyHKT — TeaTp.

1 rpynmna:

VYpasuenue x = 1,6y -19,8 3amaét HekoTOpyr0 PyHKIHIO, TPH KaKOM 3HAYCHUH apTyMEHTa 3HAYCHUE
¢GbyHKIMH paBHO 237

2 rpynna:

VYpaBuenue -2x+2y=0 3a1aéT HEKOTOPYIO (DYHKIIHIO, TPU KAaKOM 3HAYCHUHU apTyMEHTa 3HaueHue PyHKIIHH
paBHoO 177

3 rpynna:

VYpaBuenue 3x-3y+21=0 3a1aét HeKOTOPYIO (PYHKIIHIO, IPU KAKOM 3HAaYE€HUU apryMeHTa 3HauYeHHe
dbyHKUIMKA paBHO 247

4 rpynna:

VYpaBuenue 2x-2y-2=0 3aga€t HeKOTOPYIO GYHKIIUIO, IPU KaKOM 3HAYEHUH apryMeHTa 3HaueHue GyHKIUH
paBHO 167

Pedaexcusn

I[OMaH.IHee 3aJaHMe: HAllMCaTb OTBETHOC ITMCbMO OPYTY.



1. Letter.

2. Setting goals and objectives. The aim of the lesson is to build a route on a coordinate plane.
Tasks: 1) get aquainted with mathematical terms in English; 2) Remember how to set the coordinate
of the point; 3) Remember how to find the argument for a given value of the function.

What theater can we take a friend to?
Each group has sheet No. 1 on the table 1 group: No. 1.Guess the name of the theater (each group
IS given expressions with encrypted English letters)

Vocabulary:

Construct segments OCTPOUTH CErMEHTHI

The coordinates KOOPIMHATHI

The intersection point of segments TOYKH MEPECCUCHUS OTPE3KOB
Encryption mmdpoBKa

To solve equations pEUINTh ypaBHEHHUS

Function byHKIHS

The value of the argument 3HAYCHHE apryMEHTa

No. 2. In order to find out the coordinates of the location of a friend, you need to complete the task.
1 group: Construct segments AB and CD if A (15; 1), B (20;4), C(13;6) and D (18;1). Find the
coordinates of the intersection point of segments AB and CD.

2 group: Construct segments AB and CD if A (15; 1), B (20;4), C(13;6) and D (18;1). Find the
coordinates of the intersection point of segments AB and CD.

3 group: Construct segments AB and CD if A (15; 1), B (20;4), C(13;6) and D (18;1). Find the
coordinates of the intersection point of segments AB and CD.

4 group: Construct segments AB and CD if A (15; 1), B (20;4), C(13;6) and D (18;1). Find the
coordinates of the intersection point of segments AB and CD.

No. 2. Encryption of a coordinate on the cards. Finding the coordinates of the lunch place (cafe)

Encryption is the coordinate of points that is written in the corresponding coordinate system in the
corresponding letters

1 group: (27;22), (22;5), (15;10), (6;2), (27;9), (15;10), (20;17), (10;14), (3;7), (6;2).
2 group: (8;5), (10;10), (25;3), (2;17), (21;21), (10;19), (23;11), (25;3), (5;2).

3 group: (17;9), (6;11), (23;15), (6;11), (3;2).

4 group: (18:8), (5:2), (18;8), (5:2), (18;8), (27:5);(5.2)

No. 4. To mark the coordinates of points for a sightseeing tour, you need to find their coordinates,
and for this you need to solve the equations and write the answers in the cards (sheets are
distributed where the equations and points are written, as well as cards by the number of teams).

YToOBI OTMETHUTH KOOPAWHATBI TOUYCK JIA SKCKYPCHUU IO JOCTOIIPUMEYATCIIbHOCTAM, BaM HAJ10 HalTH UX
KOOpAMHATHLI, a4 AJId 9TOI'0 HY?>KHO PCIINUTE YPABHCHUA W OTBCTHI BIIMCATh B KAPTOYKU (pa311aroTc;1 JINCTHI,
TAC MpOMKrCaHbl YPABHCHUA U TOUKH, TAKKE KAPTOYKU 11O KOJIMYCCTBY KOMaHI[).



1 rpynna:

2 rpynna:

3 rpynna:

4 rpynmna:

Equation Point |Answer
1) -2x+5=17-4x |(x; 17)| (6,1)
2) 8x+15=105-2x|(x; 17)| (9,17)
3) 2(»-1)=5y-56 | (9, )| (9,18)
4 1y @1
5) o 3)| (-3,3)
6) x; 0)| (-7,0)
7) (:3: ] (31
8) (1;y)| (,-1)

Equation Point | Answer
1) 8x-3=3x+22 |(x; 13)| (5,13)
2) -18x+28=9x-53|(x, 15)| (9,15)
3) 8(y-0,5)=5y+44|(11; y)| (11,16)
4) 1y 1Y)
5) x; 3)| (-3,3)
6) x; 0)| (-7,0)
7) (-3, 9] (-31)
8) (1;y)| (1,-1)

Equation

Point | Answer

1) 5x-8=15x-38

(x; 17)| (3,17)

2) 5(7x-3)=20(x+3)

& 21| (5,21)

3) 40y-2y+1=37y+18| (7; y) | (7,17)
4) 6x+8=4x+42 (x; 17)| (13,17)
5) (x; 3) | (-3,3)
6) (x; 0)| (-7,0)
7) 3| (31
8) (1 )| 1-1)




Equation Point | Answer
1) 8x-4=5x+4 (x; 18)| (5,18)
2) 15x+5=7x+69 (x; 21)| (8,21)
3)14y-2y+3=11y+21|(11; y)| (11,18)
4) -33x+6=-28x-49 |(x; 16)| (11,16)

5) x:3)| (-3,3)
6) (x; 0)| (-7,0)
7) (-3, )| (-3.1)
8) (1;y) | (1,-1)

No. 4. The final destination is the theater.

1 group: The equation x = 1,6 y -19,8 sets some function, at what value of the argument the value of the
function is 23?

2 group: Equation-2x+2U=0 sets some function, at what value of the argument the value of the function is
177

3 group: Equation 3x-3U+21=0 sets some function, at what value of the argument the value of the function
is 24?

4 group: Equation 2x-2U-2=0 sets some function, at what value of the argument the value of the function is
167

Reflection

Homework: write a reply letter to a friend.


https://yandex.ru/znatoki/question/computers/chto_luchshe_perevodchik_gugl_ili_1366e9e2/?utm_source=yandex&utm_medium=wizard#52614d49-4a16-4b1f-a050-d697a4a933b9
https://yandex.ru/znatoki/question/computers/chto_luchshe_perevodchik_gugl_ili_1366e9e2/?utm_source=yandex&utm_medium=wizard#52614d49-4a16-4b1f-a050-d697a4a933b9

